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How the loads are transferred to the center of the fillet weld?

As you may have noticed and according to available statistics, almost 80% of welded joints are made
by fillet welding. Because of the importance of this type of weld, we decided to record a playlist
regarding the design of fillet welds according to Eurocode.

In this video, we solve multiple examples in which the loads in the structure are not necessarily applied
at the center of the fillet weld, and we use statics principles to transfer the loads at the center of the fillet
weld, considering all generated moments and torsions.
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